
09.04.2013Jan Thomsen Assembly drawing for 19 inch Rack

mounting of SAILOR 6080A PSU

1:2

See above

TT97-136708-C

UNLESS OTHERWISE SPECIFIED DIMENSIONS

ARE IN MILIMETRE AND TOLERANCES ARE IN

ACCORDANCE WITH 

MATERIAL:

DR.

Per Christiansen

Jan Thomsen

09.04.2013

09.04.2013

CH.

AP.

TITLE

FIRST

ANGLE 

PROJECTION

SIZE ASSET NO. DRAWING NO.

A2

SCALE SHEET 1 OF   1

SURFACE TREATMENT:

THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO COBHAM PLC. AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

POS NAME SPECIFICATION
SUPPLIER SPECIFICATION

SAILOR 6080 PSU 406080A
SUPPLIER SPECIFICATION

Chassis TT82-136682-x
SUPPLIER SPECIFICATION

1

2

3

4 Screw M6x55

Front Plate TT82-137947-x

51-204708-055
SUPPLIER SPECIFICATION

SUPPLIER SPECIFICATION

5

6 Screw M4x8

Screw M3x8 51-207101-038

51-205286-408
SUPPLIER SPECIFICATION

SUPPLIER SPECIFICATION

7

8 Metal Plate

Washer M4 53-200166-004

41-137821-x
SUPPLIER SPECIFICATION

SUPPLIER SPECIFICATION

Original

Updated to part on BOM

Text regarding mounting unit added

01

HISTORY

REV DESCRIPTION DATE APPROVAL

- 09.04.2013 JST

-

07.05.2014

10.04.2015

Jan Thomsen

Jan Thomsen

VER

A

B

C

1

D
E

C
F

B
G

A
H

2 3 4 5 6 7 8 9 1
0

1
1

1
2

H
G

F
E

D
C

B
A

1
2

1
1

1
0987654321

1

2

3

4

5

7

6

8

Note: When mounting the Rack unit, the unit must besupported by shelves or by using the fixing pointsshown by the arrows. Use both sides.THE UNIT CAN NOT BE MOUNTED ONLY IN FRONT PLATE

A

Detail AScale:  1:1


